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HRR = MHR - Resting HR.
{207 - (0.7 x 30)} - 70

207 -(21)-70

116 A54/ 1N

THR

(HRR x % )+ Resting HR.

(116x 0.65)+ 70

= 754+70 = 1454 = 145 aSsreund
= (116 x0.85)+ 70
= 98.6+70 = 168.6 = 169 assaund



MHR = dn31n13wuaaialagagn

220 —angi(1l) gesan 207 —{0.7 x ane ()} gmslus

Target Heart Rate (THR) 8m31n19fuaasanasiilivansg

60 — 80 % 1929 MHR gmain 65-85 % 229 MHR gnsluy
THR = (HRR x %) + Resting HR.

Resting Heart Rate (Resting HR.) @m51n191611289%7 laalein

Heart Rate Reserve (HRR) n1snnuuaiunnglunisaanniadinialaelbgemnsinig

Furesinladisas  gmsna MHR - Resting HR.



